4, 840, 000 8 4 L=55. 4m
300300 L=35m 3
4, 891, 700 8 5 007400 Leo0m
L=57m
4, 270, 200 1 5 L=112m
ASr®
A=8® A=282
L=55m
4, 620, 000 8 4 L=28. 37/m
300%300 L=31m
4, 672, 800 8 5 ( )300%300 L=4. 5m
¢ 150 L=7.8m
4,088, 700 12 10 L=6m
! ! L=16m
A=2042
A=20212 A=200n2
¢ 120
0 8 4 0x 600 1
AC20FH
2318, 800 8 5 -
2,020, 700 12 17 A0 32
RC 2
0 8 4 460. 87n?
a
4,521, 000 8 5 73. 6n2 A 3
32. 9n?
4, 159, 100 10 8 185, 7m0
1
0. 92 38.3m
RC 2 +PHL
2 519, 000 8 4 s s
2585, 000 8 5 1.6n8 12.5m
2
2 378, 200 10 8

117. 6n2

9.9m




L=180.0m Ws3.0

2,926, 000 8 4 e
ACI3FA t=3cm
2 988, 700 8 5 U
2 599, 300 10 15 RG 40 t=15cm A=558.
on2
4, 730, 000 8 4 L=83. 50m
4, 825, 700 8 5 L=78. 38m
VP 65 L=
4,214, 100 s 1. 62m VRp 65 L=3. 50m
A=83n?
A=87n?

4, 510, 000 8 4 HPEp 75 L=10. 5m
4, 631, 000 8 5 0O PG 75 L=14.9m

0751
4,057, 900 3 29 075 2

201

3, 520, 000 8 4 HPEp 50 L=51. 2m
3. 608, 000 8 5 © 50 1
3. 158, 100 11 30 ¢?201 4
8. 305, 000 8 4 15m NES
8. 580, 000 8 5 15m NEO

6, 435, 000

12




7, 150, 000 8 4 15m N=8

7, 370, 000 8 5 15m NF11

5, 527, 500 12 3

2, 607, 000 8 4

2, 680, 700 8 5 B L=0. 902km 10
2, 010, 800 3 18 C L=9. 246km 45




